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IIpocTtbie U CAOKHBIE
HEAUYHBIE

dopMBI raarosa




(OCHOBHBIE TEPMUHBL

* Auunas dpopma raarosa - opma, UIMEHAIOUAACA 1O
8peMEHAM, AUYUAM U UUCAAM.

AvaHbIME POPMAMH ABAAFOTCA 8ce DOPMbl CKA3VeMO20:

The luggage had been packed before our father came back

home.

Ckasyemoe «had been packed» - amamas dopma raaroaa «packy,
crosmias B Past Perfect Passive.

Ckaszyemoe «came back» - Amanas dpopma raaroaa «comen,
crosmas B Past Indefinite (Simple) Active.




HeAannuapimu q)OpMaMI/I T'AAT'OAQ HA3BIBAIOTC
(1)0pr1, HE U3MEHAIOIINUECA 110 BDEMEHAM, AUIIA
U YUCAAM.

e K meAmdagnIM qDopMaM TAAT'OAQ B AHTAUMICKOM
SI3PIKE OTHOCSTCS:

r—

e The Infinitive - Nudnantus

Il

* The Gerund - I'epynanit

* Participle I - [lprgactne I
* Participle II - [Tpraactue 11




DYHKIMA — YACH IPEAAOKEHUS (TIOAACIKAIIT
CKa3yeMoe, OIIPEACACHUE, AOIIOAHEHUE,
OOCTOSTEABCTBO).

Anunaa dpopMa raaroaa B IpeAAOKEHUHU MOKET

BBIIIOAHATHD TOABKO (OYHKYUIO CKAZYEMOZO.

Heauunple pOPMBI raaroaa MOTyT BEITOAHATE

dyHKITIT dpysux uaer06 npedroicenua.




PDopmbl U PyHKIITUN
MHPUHUTUBA

Nuduantus (The Infinitive) —

5TO HEOIIPEACACHHAA (CAOBAPHAA) (POPMA TAATOAA.

B pycckom si3bike OHA OTBEYAET HA BOIIPOC
«ITO AEAATH/9TO CAECAATHY

B auraurnickom HPCAAO}KCHI/II/I ITOKA3aTCACM

dopmer mEPUHUTHBA ABAAETCA YACTHIIA tO.




Dopmer I/IH(l)I/IHI/ITI/IBa

to study — Indefinite Infinitive Active

to
to

to

be studied — Indefinite Infinitive Passive

be studying — Continuous Infinitive Active

have studied — Perfect Infinitive Active

to have been studied - Perfect Infinitive Passive

to have been studying - Perfect Continuous

Infinitive Active




Bce dopmbr muprHITHBA ABAAFOTCA NCXOAHBIM
AAA O6p330BaHI/IH CKaSYCMI)IX COOTBGTCTBYIOLT_[I/IX

BPCMCH n BaAOFOB, HaHpI/IMep:
This problem has been studied for decades. — OTa mpoOaema

N3y9aAaCb ACCATHUACTHAMII.

Ckasyemoe «has been studied» oopasosano ot nHMUHUTHBA
dbopmer Perfect Infinitive Passive «to have been studied».
Nsmenenne dpopmsl raaroaa «have» Ha «hasy roBoput o BpemeHH,

AHWIIE U YHUCAE CKazyemoro: Present, 3 AHIIO, EAMHCTBEHHOE YHCAO.

OTCIOA,ZI CACAYCT LIOAHAA XAPAKTEPHCTHKA CKA3VEMOI'O AAHHOI'O

nipearokeHus: Bpems Present Perfect, 3aaor Passive, 3 auno,




OyHKkImy HHUHITABA

NuaduaITIB MOKET OBITH AFOOBIM
YAE€HOM IIPEAAOIKEHUA.

"\

4@‘

\




1. UadnHnTHB B (DYHKIINN ITOAAEKAIIETO:
To prolong this discussion was a bad mistake. — _IIpoAOAYXKATE 3Ty ALCKYCC

OBIAO OOABIIION OIITHMOKOII.

2. Ilndounmrus B QYyHKOIUN YACTH CKA3yEMOTO:

The train was to leave at midnight. — [Toe3a AoAkeH ObBIA OTHPABUTELCA B
IIOAHOYb.

3. IadnHnTHB B PYHKIINNT AOIIOAHEHUS:
He’d like to ask some questions. — OH xoTeA OB 32AATB HECKOABKO BOIIPOCOB.

4. lacpbmaNTHB B PYHKINHT OIIPEACACHUA:

I found the letter to be sent on his table. — Ha cToae s mHamrea mmcemo, koTopoe
HYKHO OBIAO OTHPABUTE.

5.1 Ci)I/IHI/ITI/IB B (DYHKITUH OOCTOATEABCTBA:

,@‘\‘L--v- a good specialist you have to study hard. — HroOsr cTaTh XOpOIIIIM
A N

‘ CARI 1AAICTOM, TBI AOAKEH YCEPAHO YIUTHCH.




OcobenHocTN TEpeBOAA TH(PUHUTUBA:
NuduanTrs IepeBOANTCA HA PYCCKAI A3BIK
HEONPEACACHHOM (POPMOU raarosa (ACAATh,
CAEAATB).

IMroraa MH(PUHUTHB MOKET IIEPEBOAUTHCSA
CYILIECTBUTEABHBIM, HA3BIBAXOIIIIM ACUCTBHE

(areHue, perreHue u T.11.)




[ Tpu mepeBoA€ HHPUHUTHBA HA PYCCKUM A3BIK CACAYE
VIUTBIBATD PA3AHYHAA B (DYHKIIHAX MOAAEIKAILETO U
00CTOATEABCTBA.

* To find these books is rather difficult. — VIladpuanTHB
to find ABASETCH ITOAAECIKATTIHIM.

e Havitu 511 KHUTU AOBOABHO CAOXKHO.

* To find these books in English you have to go to the
library named after Mayakovski. — Mludpuantus to find

ABAACTCSH OOCTOATEABCTBOM (ITOAACIKAITINM B
IIPEAAOKEHNH ABAAETCS MECTONMEHHE you ).

* Yro0ObI HANTH 5TH KHUTU, BBl AOAYKHBI IIONTH B

TEKy UMEHU MasgkoBCKOro.




NudranTrs B (DYHKIINN OIPEACACHUA TIEPEBOAUTCS
* IPUAATOYHBIM IIPEAAOKEHUEM KKOTOPBIM HAAO CAEAATH)

The problem to be discussed is very important.

[TpobAema, KOTOPYIO HAAO OOCYAUTH, OYECHD BAJKHA.

® IIPEAAOKEHUEM «KTO CAEAAA»

He was #he first to pass this difficult exam.

OH OBIA 71¢p652M, KTO CAAA STOT TPYAHBIN 9K3aMEH.




I'epyaanit (The Gerund)

* ['epyramit — 9170 HEATYHAA (DOPMA TAATOAQ,
OOAAAATOIITAS OAHOBPEMEHHO CBOMCTBAMHU
CYULECMBEUMENBIOZO0 T 2AAL0NA.

* | epymAnE BBIpaKaET IIPOLIECC ACHUCTBUA.




(OOpa3zoBaHue TeEPYHAUSA

* 'epynamnit 00pasyercsa OT OCHOBBI I'AArOAQ
Ipu tomoIu cypdpukca — ng:
measure — measuring

boil - boiling




bopmer repyHANSA

IIpocraa dpopma repynaus:
Indefinite Gerund Active — producing
Caorxubie pOPMBI TEPYHAUA:
Indefinite Gerund Passive — being produced
Pertect Gerund Active — having produced

Perfect Gerund Passive — having been produced




IIpusnaxku repyHAuA B
IIPEAAOKEHUU

XapaKTEpHBIM IIPU3HAKOM I'€PYHAUA ABAACTCSA
HAAWYHE IIEPEA HUM:

* mpeaaora — of utilizing

* IPUTAKATEABHOTO MecTonMmeHus - his reading

nAn

® CYIIECTBUTEABHOIO B IIPUTMKATEABHOM HAU B
oorreMm maaexke — Mike’s reading




DyHKIIMU repyHAUA

ITpocras dbopma repyHARA MOKET OBITH
AFOOBIM YAE€HOM IIPEAAOKEHUA.




1. I'epysanit B OyHKIHHT ITOAA€IKAILETO:
Heating the substance up to 85° C was absolutely necessary.
2. 'epyBAU B DYHKINH YACTH CKA3yEMOTO:
One of the effects of heat is turning a solid into liquid.
3. 'epysamnii B (yHKIIUH AOTIOAHEHUA:
Thank you for coming.
4. 'epyHAUI B (DYHKITUHT OIIPEACACHUA:
a smoking room, the idea of utilizing

5. I'epynanit B pyHKIHIN 00CTOATEABCTBA ( C IIPEAAOTAMU DY,
without, before, after, on, upon, in): One cannot transform water
into steam without heating it.




OyHKIIMNU CAOKHBIX (POPM

TCPYHAUA

CAOKHBIE (POPMBI TEPYHANA BBIIIOAHAIOT
dDYHKIIIN TOAAEIKAIIET0 U AOITOAHEHUA.




Indefinite Gerund Passive (being sent) asaserca B
IIPpEAAOKEHTN TToAAeKAITUM (1) man coortoanenunem(2) u
IIEPEBOAUTCA IPUAATOYHBIM ITPEAAOKEHUEM ITOAAECIKAIITHBIM
WAU OPUAATOYHBIM ITPEAAOKEHIEM AOIIOAHUTEABHBIM. CaM
TEPYHANU IEPEBOAUTCHA TAATOAOM:

1. His being sent to the international conference was discussed in

the scientific council of our University. - To, YTO €ro IOCBIAAFOT
HA MEXKAYHAPOAHYIO KOH(EPEHIINI0, OOCYKAAAOCH HA YIEHOM

COBCTC HAIIICI'O YHUB Cp CH'TCTA.

2. We knew nothing about her being sent to Moscow. - Mur
HIYEIrO HE 3HAAU O TOM, YTO €€ IOCBIAAIOT B MOCKBY.




Perfect Gerund Active (having read) u Perfect Gerund Pas
(having been read) Taxixe ABAAIOTCS B IPEAAOKEHIH ITOAAEKA
(1) mam arommoaHeHHEM(Z2) T OOBITHO IIEPEBOAATCA IPUAATOUYHBIM
IIPEAAOKEHUEM, IIPUYEM CaM T€PYHAUN IIEPEBOAUTCA TAATOAOM B

HpOLHCALH@M BPCMCHI/I.

1. Faraday's having discovered clectromagnetic phenomenon
changed the theory of electricity existing in his time. - To, uTo
Dapascit OTKPBIA ABACHHUE IACKTPOMATHETHU3MA, H3MEHHIAO
CYIIIECTBYIOIIYIO B TO BPEMSA TEOPHIO SIAEKTPUIECTBA.

2. We knew nothing of her having been sent to Moscow. — Msr

HUYEro HE 3HAAU O TOM, YTO €€ IMOCBhIAAAU B MoOCKBYy.




IIpuuacrue

* [Ipuvactue — HeanmaHas (popMa TAATOAQ,
MMEFOITIAs IIPU3HAKHA FAATOAA U
IIPUAATATEABHOTO.

* [IprgacTue ¢ 3aBUCUMBIMU OT HETO CAOBAMH
O0OpPa3yeT IPUIACTHBIIT OOOPOT.

* CyIecTByIOT IPOCTBIE U CAOKHBIE (DOPMBI
IIPUIACTHS.




OOpa3oBanue npUIACTUMI

* [lpocras dpopma mpmuactus I (Participle I, Present
Participle) oOpasyeTcs OT OCHOBBI TAAaroAa C IIOMOIIIBIO
cyddukca -ing: come-coming.

* [Ipmuactme II (Participle 11, Past Participle) oopasyercs ot

OCHOBBI TAQTOA2 € IIOMOIIBIO cyddukca —ed (cTaHAapTHBIE
I'AATOABI): start-started.

[Tpraactue 11 HecTAHAAPTHBIX TAATOAOB AAETCA B TAOAUIIE
OCHOBHBIX (POPM HECTAHAAPTHBIX TAATOAOB.




Caoxxnabie popMbIl

IpUYIaACTUA I

Indefinite Participle I Passive — being used
Perfect Participle I Active — having used

Perfect Participle I Passive — having been used




DyHKNIMY OpUIaACTUA




B npearoxenun mpocras dpopmMa IpuIacTus

MOKET OBITh:
- oripeaeaeHueMm: the boiing water, the boiled water.
- 00CTOATEABCTBOM;

(When) going into chemical combination,...

When gone into chemical combination,...

- YACTBhIO CKa3yeMoOro: He is using a new computer
program. A new computer program was used in this
experiment.




Caoxxnbie popmbl

- OIIPEACACHUC!:

The method being used in this investigation helpe

to solve many problems.
- YaCTh CKa3yeMOro:

A new library is being built in our town.
- 00CTOATEABCTBO:

Being increased, the temperature influenced the
actvity of electrons.

Having overcome a lot of difficulties, Mendeleyev
could create the Periodic Table of Elements.

Having been invented, the electric candle solved
blem of lightning.




IlepeBoA npocThix popm
npuuacTus I

* [lpmuaactie 1 B (pyHKIIMN OIpPEACACHUSA TEPEBOAUTCS
IIPUIACTHEM C CYPPUKCOM -1 ITUIITYIIIN, KATIAITIH.

* [lpuuactue I B pyHKIIMI OOCTOATEABCTBA IEPEBOAHTCH

ACETIPUIACTHEM C CYP@PUKCOM = HAH IPEAAOTOM «IIpm» +
cymiectBuTeAbHOE: Berymad B peaxknuro. ..; [lpu
BCTYIIACHHH B PEAKITHIO. ..

* [lpuuactue B OyHKIINH 9aCTH CKA3YEMOTO IIEPEBOAHTCH
T'AATOAOM B ATIHOM (DOPME.




IIepeBoa ca0xHBIX popm
nmpuuacTus I




- ®opma Indetinite Participle I Passive B pyHxI

OHpeAeAeHI/I}I H€p€BOAI/ITCH HPI/I‘IaCTI/IeM C
qu)(i)I/IKCOM «=-€M-»: the program being used —

HNCITIOAB3YEMaAA HpOPpﬂMMa, co

- ®opma Indetinite Participle I Passive B dpyrkiimm
OOCTOATEABCTBA IIEPEBOANUTCH IIPUAATOUHBIM

IIPEAAOKEHHEM C COFO30M «KOTAQ» UAW «ECAM»:

Being increased, the temperature influenced the activity of
electrons. — Koraa/ecAn TeMmepatypy YBEAMYHBAIOT, OHA BAUSACT

Ha aKTUBHOCTDb 9ACKTPOHOB.




- @opma Perfect Participle I Active B pyrkmmm

OOCTOATEABCTBA HCPCBOAI/ITCH éCCH[gI/I‘IaCTI/ICM C

CY(i)(i)I/IKCOM «-B»: Having overcome a lot of difficulties,

Mendeleyev could create the Periodic Table of Elements.
I IpeoaoaeB mHOTO TpyAHOCTEU, MeHAEAEEB CymeEA

CO3AATH IEPUOAMIECKYIO TAOAHUITY IAEMEHTOB.
- @opwma Perfect Participle I Passive B cpyrKITIH

OOCTOATEABCTBA ITIEPEBOAUTCH IPHUAATOYHBIM

PCAAOKEHHIEM C COFO30M «ITOCAE TOTO, Kak»: Having been

.

invented, the electric candle solved the problem of lightning. -
Ilocae TOro, KaK m300pEA IACKTPUIECKYIO CBEYY,




3armomuaure!

CAOKHBIE HEATIHBIE (DOPMBI IIEPEBOAATCA HA
DPYCCKHUH A3BIK #PUOAMOUHBIMU NPEOAOHCEHUAMU.

I'epyHANI — IPUAATOYIHBIM ITOAACKAIITHBIM HAX
AOIIOAHUTEABHBIM (IIPU IIEPEBOAE (DOPMBI
AOOABUTD «TO, UTO...»

[Tpmaactne I — 0OCTOATEABCTBEHHBIM IIPUAATOIHBIM
(AOOABUTH COTO3 «KOTAA»/ «ECAW» HAU ITOCAE TOTO

Kak»




IlepeBoA dpopm npuuactua 11

* Ilpuuactue 11 B pynxmmm ompeaeseHNs IEPEBOANTCA
IPUYIACTHEM C CY(P(PHUKCOM -HH, -T, -€M: CACAAHHBI,
CBEPHYTHIN, TPEOYEMBI.

* Ilpugactme II B pyHKIIMI OOCTOATEABCTBA IIEPEBOANTCS
ACEIIPUIACTHEM C CYPDUKCOM —B, HAU ITPUAATOTHBIM
rpeAroxkeHneM: BerynmuB B peakiuro. ..; Koraa saement
BCTVIIUA B DEAKITHIO ...

. HpﬂqaCTHe II B (byHKHHH YACTH CKA3YEMOI'O HEPEBOAUTCA
T'AATOAOM B AMYHOU cpopMe.




YupakHeHUA

1. Having been designed the device was successfully used in many important
experiments.

2. Being heated the material expands little.

3. The wortld of science also knows of his having investigated the diffusion
of gases through solids.

4. Faraday’s having found the difference between conductors and
nonconductors was very important for the development of science.

5. Her having been sent to Oxford was of great importance for her further
scientific success.

6. An instrument being used for measuring the temperature of a body is
called a thermometer.




